/

pays PRSI at 4% and USC at 5.5%.

ime
p) Mary’s position with Ryanair earns her a monthly wage of €7,000 and she ear.ned ovc;;tlrghe
‘ of €600 in May. She pays PAYE at the rate of 40% and has a monthly tax credit of €275.

Using the details above, complete Mary’s payslip for 31/05/2019.

/| J_/

Payslip
Employee Name: Mary Brennan Date:
Earnings Deductions
Basic Wage PAYE
Overtime PRSI

usc
Gross Pay Total Deductions
Net Pay

PAYE workings box:

PRSI workings box:

USC workings box:




question 13

complete the following wage slip showing gross pay, total deductions and net pay.

employee No. 15 Grainne Dwyer Week 20 Date: 19 May 2018
€ DEDUCTIONS: €
544.00 | PAYE 77.07 Tand M
Ltd
OVERTIME 168.00 | PRSI 28.48 Mators
USC 22.71
CYCLE TO WORK SCHEME 15.00 NET PAY
GROSS PAY TOTAL DEDUCTIONS
. Junior Cycle Final Examination [83]

Business Studies — Common Level




Question 13

complete the following wage slip for Al

an Costello, showing gross pay, tot

al deductions and net

pay.
Employee no. 12 Alan Costello |Week 8 Date: February 26th 2018 J
PAY € DEDUCTIONS € Leixlip Financial
Holdings
BASIC 220.00 |PAYE 35.00
COMMISSION ON SALES 120.00 |PRSI 20.00
usC 8.00
|8, HEALTH INSURANCE 12.00 |NET PAY
GR %
0SS PAY TOTAL DEDUCTIONS i
Question 14

i
e one way in which a decrease in the rate 0

f inflation in the economy would affect consumel



An

llquestions carry equal marks.

question 16
(aren Doyle works in sales for a large pharmaceutical company in Ireland. Her normal week is 38

nours, her basic pay is €600 per week and her commission is paid at 2% of sales.

This week Karen had sales of €40,000.

. Karen pays PAYE at 20% and PRSI/USC at 8% on her gross salary.

» She invests €60 into savings and pays €18 for union fees. These are both deducted by her

employer at source.

| ] </

+ Her annual tax credit is €3,300.

(a) () Complete the payslip for Karen Doyle for the week ended 10/08/18 based on the
information given above (round numbers to two decimal places).

Week ended:
10/08/18

Commission

GROSS PAY

Tax credit

Deductions

PAYE

PRSI/USC

Savings

Union

Total deductions

NET PAY




Workings:

Commission: Tax credit: PAYE.

PRSI/USC: Total deductions: Netpay:

]
(ii) Explain the following terms:
‘Term Explanation
Gross pay
PAYE
Tax credit

\
Net pay

\
Commission \

\
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question 8

o Budget 2019 Finance Minister Paschal Donohoe announced an increase in the minimum-
n

10€9.80 per hour with effect from January 1 2019.

john Lawlor works as a fitness instructor at Leg Day Ltd, a 24-hour gym. If John normall
y of €388.00 for a forty-hour working week:

y eal

gross pa
(a) What is John’s current hourly rate? B

Workings:

Answer:

(b) How much will John earn for working forty hours per week from January 2019?

Workings:

|

answer: ——

Examination

A | ovel IE T

-, __cycle Fil’la,



Question 5
Complete the followin

g wage slip for Jonathan Byrne, showing gross pay, total dedUCtions e
Ney

pay.
@ Employee No. 1 Jonathan Byrne | Week 6 Date: 12 February 2013
. Fella Mep
PAYE 73.70 en's
BASIC 600.00 Sroomimy 1
OVERTIME 450.00 PRSI 36.01
usC 12.00
UNION DUES 6.00 T
SAVINGS CLUB 20.00 NET PAY
GROSS PAY TOTAL DEDUCTIONS o

—

(b) If overtime is paid at time-and-a-half, and Jonathan’s basic rate of pay is €10 p/h, how many
hours of overtime did he work?

Workings:
Answer —
Question 6
ed' public with |
° Advertisng Stanarg image - Asal |
Socig| . ras Auth : B By 4
Osig rcnoema logger for mlsleado ity of Irelang has for the fir t R
NOlly's face had be ﬁlng ad"eﬂ‘lsing The Asa, st time upheld a complaint ab
an £1.. ' i 1+ .



Question 11
Look at the payslip below and answer the questions that follow.

EMPLOYEE: Gemma Doherty
Week o
PAY € DEDUCTIONS ﬁ\
BASIC 900.00 | PAYE m\
OVERTIME 430.00 | PRSI o ———
Usc 59.20
SAVINGS T
HEALTH INSURANCE
30.00 NET Pay
GROSS PAY 1,330.00 | TOTAL DEDUCTIONS 464.80 m

(a) What is Gemma'’s basic pay per hour if her normal working week is 40 hours?

Workings: j

Answer:

(b) Divid i
e the deductions from Gemma's pay into statutory and non-statutory

STATUTORY
NON-STATUTORY

_—

\
\




